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Translate: move but not change Perserere Multiplying by 100" N<#
Reﬂ?t Flip. over in agiven plane Dividen.d+ Divisor Respectt Y § Multiplying by
Coordinates: Across then up =Quotient Communihy 1000 N LN
100,000 | 200,000 | 300,000 | 400,000 | 500,000 | 600,000 | 700,000 | 800,000 | 900,000 Dividing by 107 >
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1 2 3 4 5 6 7 8 9 eg. 5.6 x 100 = 560.0
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2D SHAPES
10[{10]20|30|40|50]|60|70|80]|90 | 100 -— <:> O
Metric Measurements
1 centimetre (cm) = 10 millimetres (mm) )
1 metre (m) = 100 centimetres Triangle Rectangle Pentagon Hexagon Octagon
1 kilometre (km) = 1000 metres 3D SHAPES
1 kilogram (kg) = 1000 grams (g) N
1 tonne = 1000 kilograms
)
1 litre (1) = 1000 millilitres (m “) i :
1 litre = 1000cm? . . .
lem? = 1 millimetres Cube Cylinder Cuboid Cone Pyramid Sphere
FACES - Flat sides
Kilo is x1000 EDGES - Where two faces meet
Centi is 1/100 VERTICES - Where three or more sides meet (corners)
Milli is 1/1000
Width - ™ T v T
. Area = 5=V 50=L
Height Width x Height Perimeter = ¢
. 10=X 500=D
(Width +
Height) x2 100=C 1000=M




